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QUESTION 1

In addition to sets of procedures, and careful handling instructions for hazardous or delicate materials, what can
Specifications include to provide information about assets or other entities? 

A. Attributes 

B. Specifications 

C. Rules D. Conditions 

Correct Answer: B 

 

QUESTION 2

Which business object performs critical validations whenever initial measurements are loaded? 

A. D1-IMDRetry 

B. D1-GenericIMDMain 

C. D1-IMDSeeder 

D. D1-IMDPreVEE 

E. D1-IMDPeriod 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E91711_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_2.pdf 

(83) 

 

QUESTION 3

What happens when a device\\'s measuring components are reconfigured (a new measuring component will be read) at
a service point? 

A. A device with a new configuration type is created. 

B. The original installation event is updated with the "removal" (expire old device configuration). 

C. A device with a new configuration type is created. Moreover, a new installation event is created to `install" (new
device configuration). 

D. The original installation event is updated with the "removal" (expire old device configuration) and a new installation
event is created to "install" (new device configuration). 

E. A new installation event is created to "install" (new device configuration). 

Correct Answer: D 
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QUESTION 4

What can cause multiple bill lines for a rate component to be produced in a bill calculation header? 

A. changes in Rate Schedule and Bill Factor 

B. changes in Rate Version Calculation Group and Bill Factor 

C. change in Bill Factor 

D. change in Rate Version Calculation Group 

E. change in Rate Schedule 

Correct Answer: A 

 

QUESTION 5

There has been a meter exchange at a service point in the past year. 

How many installation events exist for the service point for the past year? 

A. Two 

B. One 

C. Four 

D. None 

E. Three 

Correct Answer: B 

Reference: https://docs.oracle.com/cd/E18733_01/pdf/E18368_V2_01.pdf 
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